
1) 926 + (-898)

Answer: ____________

2) What would you multiply by to 
increase an amount by 26%?

Answer: ____________

3) Solve by factorising 
j2 - 10j - 11 = 0

Answer: ____________

4) 9/
20 ÷ 19

/14

Answer: ____________

5) 622 + (-123)

Answer: ____________

6) (-452) - 907

Answer: ____________

7) What would you multiply by to 
decrease an amount by 39%?

Answer: ____________

8) What would you multiply by to 
decrease an amount by 39%?

Answer: ____________

9) Find perimeter of 
triangle
h = 645 , a = 843 in,
b = 878 in, c = 963in

Answer: ____________

10) Round 28.8 to the nearest 1000

Answer: ____________

11) Simplify 43:5

Answer: ____________

12)
Find the next three numbers in 
the sequence
25,24,120,119,595,594,2970__,__,__

Answer: ____________

13) Convert the following improper 
fraction 1712/20 + 196/7 into a mixed 
number

Answer: ____________

14) Find perimeter of 
triangle
h = 379 , a = 852 in,
b = 976 in, c = 
996in

Answer: ____________

15)
Find the next three numbers in 
the sequence
0,1,1,2,3,5,8__,__,__

Answer: ____________
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16)
Find the next three numbers in 
the sequence
0,1,1,2,3,5,8__,__,__

Answer: ____________

17) 550.08 ÷ 38.2

Answer: ____________

18) What would you multiply by to 
increase an amount by 42%?

Answer: ____________

19) 166 + (-977)

Answer: ____________

20) (-16) x 31

Answer: ____________

21) Decrease 84 by 92%

Answer: ____________

22)
30

Volume of Cone 
24

Answer: ____________

23) 700.5 + 193.2

Answer: ____________

24) (-28) x 39

Answer: ____________

25) (-28) x 39

Answer: ____________

26) Round 5.3 to the nearest 10

Answer: ____________

27) 4/
18 ÷ 15

/1

Answer: ____________

28) 4/
18 ÷ 15

/1

Answer: ____________

29) (-336) ÷ (-24)

Answer: ____________

30) Solve by factorising 
x2 + 3x - 4 = 0

Answer: ____________
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31) 1/129 of 258

Answer: ____________

32) Convert the following improper 
fraction 24/9 + 149/17 into a mixed 
number

Answer: ____________

33) 1212.04 ÷ 31.4

Answer: ____________

34) 858.6 + 167.2

Answer: ____________

35) (-17) x (-11)

Answer: ____________

36) 20/
7 ÷ 15

/13

Answer: ____________

37) 286.84 ÷ 20.2

Answer: ____________

38)
29  Find Volume of Cone 

24

Answer: ____________

39) What would you multiply by to 
decrease an amount by 89%?

Answer: ____________

40) Find perimeter of 
triangle
a = 177 in , b = 844 
in

Answer: ____________

41) 11/
16 ÷ 14

/16

Answer: ____________

42) What would you multiply by to 
decrease an amount by 89%?

Answer: ____________

43) Simplify 41:18

Answer: ____________

44) 548.64 ÷ 14.4

Answer: ____________

45) 'What is the probability of rolling a 
number less than 1.when rolling a 
dice

Answer: ____________
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46) Find perimeter of 
triangle
a = 754 in , b = 960 
in

Answer: ____________

47) Decrease 96 by 13%

Answer: ____________

48) What would you multiply by to 
increase an amount by 79%?

Answer: ____________

49) (-142) - 771

Answer: ____________

50)
31  Find Volume of Cone 

30

Answer: ____________

Total: ___ / 50
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Answers:

1) 28 2) 1.26 3) j = 11 or -1 4) 63/190 5) 499 6) -1359 7) 0.61

8) 0.61 9) 2684in 10) 28.8 11) 43 : 5 12) 2969,14845,14844, 13) 3716/35 14) 2824in

15) 13,21,34, 16) 13,21,34, 17) 14.4 18) 1.42 19) -811 20) 21) 6.72

22) 18095.573684677 23) 893.7 24) 25) 26) 5.3 27) 2/135 28) 2/135

29) 14 30) x = 1 or -4 31) 2 32) 16149/153 33) 38.6 34) 1025.8 35)

36) 210/21 37) 14.2 38) 4373.096973797 39) 0.11 40) 1865in 41) 11/14 42) 0.11

43) 41 : 18 44) 38.1 45) 0/1 46) 2674in 47) 83.52 48) 1.79 49) -913

50) 7304.2029195963
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